
8th Class Geography English Medium Chapter 4 Test

Sr Questions Answers Choice

1 The per capita income of Pakistan in 2021 CE was.
A. 1654 US dollars
B. 1465 US dollars
C. 1546 US dollars
D. 1456 US dollars

2 Textile industry contributes towards exports of Pakistan.
A. 40%
B. 50%
C. 60%
D. 70%

3 This machine twists the fibres together to make yarn or thread.
A. gin
B. drawing maching
C. carding machine
D. Spinning machine

4 The ripe cotton boll is a mass of threads, each fastened to a seed.
A. 2-3 cm long
B. 2-4 cm long
C. 2-5 cm long
D. 2-6 cm long

5 In Pakistan, cotton is grown mainly in the.
A. Punjab and Sindh
B. Sindh and Balochistan
C. Punjab and KPK
D. KPK and Balochistan

6 It is the most important large scale industry in Pakistan.
A. Cement industry
B. Steel industry
C. Sugar Industry
D. Textile Industry

7 Physical growth of cities is called.
A. Immigration
B. Urbanization
C. Industrilization
D. None of these

8 One of the major exports of Pakistan.
A. Sugar
B. Sports goods
C. Texile goods
D. Cement

9 A process of a separation of seeds from the cotton boll.
A. Spinning
B. Ginning
C. Weaving
D. None of these

10 One of the major imports of Pakistan.
A. Mineral oil
B. Sports goods
C. Fish
D. Fruits


